CBT XI RO BHOPAL SEPTEMBER, 23

1. Assertion (A): the position of the slave in the Roman empire was very good
Reason (R): the slaves were getting all the facilities.

1.G1a1 (Q) : 99 9yred § o &t fRUfd 9gd srst ot

FRU (R): ™ & Guft gaumd fira & off)

(a) Both A and R are true and R is the correct explanation of A

(b) Both A and R are true but R is not the correct explanation of A

(c) Ais true but R is false

(d) Ais false but R is true

Answer: (c) A is true but R is false

2. Assertion (A) : the Roman empire was a spread over a less reason

Reason (R) : it was spread into three continents Europe, West Asia, North Africa.
2.3@1 (T : AT YT HH HRUT 4 el gof ol

PR (3R : T§ o TeTgial JR1Y, ufdm uikmn, IOt sipiet § e ganm il

(a) Both A and R are true and R is the correct explanation of A

(b) Both A and R are true but R is not the correct explanation of A

(c) Ais true but R is false

(d) A'is false but R is true

Answer: (d) A is false but R is true

3..Which one of the following is a river that forms the boundary of the Roman Empire?
3.fuffed @ o @ e Af § S I 9T &t 9 4 g2
(a) Mekong River

(b) Rhine River

(c) Amur River

(d) Yangtze River

Answer: (b) Rhine River

4..Christianity became the state religion of the Roman Empire in the
4.3915 Yo AW AT BT ASB yH §9 T ?

(a) 1st century CE

(b) 2nd century CE

(c) 3rd century CE



(d) 4th century CE

Answer: (d) 4th century CE

5.The Roman silver coin, known as the denarius, weighed gm of pure silver.
(a) 2.5

(b) 3.5

(c) 4.5

(d) 5.5

Answer: (c) 4.5

6.._ and Greek languages were used in the administration of the Roman Empire.
6.. i HIwrell &1 VAN AT IHd & YR | fhar S ol
(a) Chinese

(b) Mayan

(c) Latin

(d) Turkish

Answer: (c) Latin

7.. What were Amphorae?

7. THHRIT &1 U?

(a) A type of army Th UDR P I

(b) A type of container T YbR DI U

(c) type of district administrator T&% UHR &1 S I=mI®d

(d) None of the above

Answer: (b) A type of container Tdh YPIR HI UA

8.. The emperor who made Christianity the official religion in the Roman Empire was
8. "9 A H 3415 yH &I ISyH I el JUIC Ul

(a) Alexander

(b) Augustus

(c) Constantine

(d) Nero

Answer: (c) Constantine

9.. the roman empire got best kind of wine from the city of ?

9.7 ST &1 JaaH TSR Pl IR Hel I et o



(a) BYZACIUMA

(b) CAMPANIA

(c) NAPLES

(d) SICILY

Answer: (b) CAMPANIA

10-Augustus ,the first roman emperor was called the leading citizen whose Latin term is ?
10-94H T FUIe ey &I sproft AR g1 Sar o1 forgeT dfed wsg 87
(a) Basileus

(b) Dominus

(c) Princeps

(d) res gestae

Answer: (c) Princeps



